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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Briefly explain how “Relationship” factor is a very important dimension in new business service experience. (2 Points)
First of all, the relationship with the customer is of extreme and essential importance because it is a source of innovation and differentiation. Moreover, long-term relationships facilitate the ability to tailor the service offerings to customers’ needs.

2. What are some of the challenges that service operation managers face when dealing with high interaction / high customized services? (2 Points)
Some of the challenges that service operation managers face when dealing with high interaction / high customized services can be as follows:
· Fighting cost increases

· Maintaining quality

· Reacting to customer intervention in the process

· Managing advancement of people delivering the service (i.e. Contact personnel)

· Managing flat hierarchy with loose subordinate – superior relationships

· Gaining employee loyalty

3. Briefly explain how “Switching Costs” serve as to create barriers to entry? (2 Points)
Establishment of customer relationships can sometimes create a cost in the form of an inconvenience (ex. Hassle, burden …) for the customer to switch from one service provider to another. This cost (called switching cost) can well serve as to create barriers to entry.
4. “Routine services can be delivered through a production-line approach”. Do you agree with this statement? Why? Why not? (2 Points)
Yes, I agree with this statement. This way, routine services will be provided in a controlled environment to ensure consistent quality and efficiency of operation.
5. Contrast “Direct-to-Customer” versus “Intermediary” e-business models. Provide one example for each of those very models? (2 Points)
While “Direct-to-Customer” e-business is a model that provides goods or services directly to the customer, often bypassing traditional retail channel members, “Intermediary” e-business is a model that brings together buyers and sellers by concentrating information. An example of direct-to-customer e-business model could be Amazon.com or gittigidiyor.com). On the other hand, an example of intermediary e-business model could be ebay.com or arabam.com).
6. Define “The case-by-case” approach to service recovery. What might be the handicap to this very approach? (2 Points)

The case-by-case approach to service recovery is an approach that addresses each customer’s complaint individually. The handicap of this approach is rewarding / solving problems of only persistent, aggressive complainers, hence, leave more “reasonable” complainers with no solution.
Good Luck
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